Marginal Product and the
Law of Diminishing Returns

As you add workers, specialization tends to increase the
marginal product. Think about how an assembly line works
with one worker and then two, and then three, and so on.
What happens after the each additional worker is added?

The third worker will produce an additional 10 units of
production, the fourth gives five, and the fifth will produce
two additional units! Therefore, the benefits of specialization
‘are exhausted.

This phenomenon is called law of diminishing returns and can
be seen clearly when the production function and the
‘marginal product of labor are graphed.
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EXHIBIT H.2

Corrections Funding History
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The law of diminishing returns says that, in the
short run, as you continue to add a variable input to
a fixed input, the additional output from the
variable input will eventually decline.

When you have some fixed input, then adding
more workers does not allow for additional
production.

In fact, it is possible that the marginal output would
become negative as the workplace becomes
cluttered with too many workers.

The Bottom Line
The Costs and Benefits of State Incarceration

When incarceration (or any effective rehabilitative or
prevention program) lowers the crime rate, benefits
accrue to taxpayers and crime victims in the form of
avoided costs.

That is, when crime is reduced, taxpayers do not have
to spend as much money on the criminal justice
system, and there are also fewer crime victims.

As we have seen, however, it costs taxpayers money
to incarcerate people. We quantified these opposing
factors to estimate the net economics of state
Jincarceration.
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